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1 Introduction

In this work we present a modified receiver for MBMS, referred to as permeable-layer receiver (PLR) which makes use of partly received UDP packets in the FEC decoding within MBMS. Mainly only receiver modifications are sufficient, possible modifications in the protocol are discussed. We present three different modes of operations and discuss the necessary extensions to MBMS for this receiver to be applicable. Selected simulation results show the significant improvement when using this receiver enhancement. We propose to address the PLR for MBMS after Release 6.
2 Discussion

Email discussion as well as optimization approaches in 3GPP S4-040348 have pointed out the difficulty to align UDP/IP packets to the boundaries of underlying RLC-PDUs. In addition, it is common working assumption that the entire UDP/IP packet is not available to upper layers if just any part of this UDP/IP packet is lost or corrupted. This is mainly due to the checksum failure in the UDP layer. Therefore, if the alignment of UDP/IP packets to RLC-PDUs cannot be guaranteed due to missing cross-layer information or if the alignment is too costly in terms of header overhead, usually a significant amount of correctly received data is dropped in case of a single radio block. Common data and multimedia applications generally cannot make use of partly received UDP packets. Therefore, in this case usually a suitable trade-off is attempted between the packet length and the header overhead. In case that header compression can be applied, it is usually less critical to reduce the application layer packet size to match the RLC-PDUs of the underlying radio access network. In addition, the application is usually aware of the p-t-p conditions and can easily adapt its packet size.

Matters are different for MBMS due to different reasons:

1. The alignment of packets is difficult as it is expected that for many cases the same encoded stream is produced for different radio access networks with different system parameters. Aligning the packet size to the expected radio conditions is difficult such that at least for some cases a significant amount of correctly received radio blocks have to be dropped.

2. In case header compression is not used, the packet size cannot be too small to not harm the overall compression efficiency. Therefore, packet sizes should not be too small to avoid outrageous IP/UDP as well as PDCP or SNDCP/LLC overhead.

3. For MBMS according to TS26.346 V1.5.0, forward error correction is used above the UDP layer with the introduction of FLUTE as well as the FEC scheme for streaming delivery. Therefore, the application can possibly make use of the partly received information, as the correctly received information might beneficial in the decoding process.

3 Permeable-Layer Receiver

3.1 Basic Idea

We will in the following discuss the case for the Streaming Delivery using RTP. Nevertheless, most of the observations also hold for download delivery using FLUTE. The application layer decoder, independent of the type of the codes, can make use of partly received UDP packets, as long as the received parts can be correctly assigned within the source block. This has two reasons:

4. The source RTP packets are usually not aligned to the source symbol size T in the source block. Therefore, any loss of an RLC-PDU results in the loss of an entire source RTP packet resulting in the erasure of more than one source symbol in the source block. Receiving only parts of UDP packets can help to receive more source symbols which inherently increases the decoding probability.
5. Neither the source RTP packets nor the parity RTP packets are in general aligned to the RLC-PDU. As both codes considered within MBMS, RS codes and Raptor codes operate on much smaller symbol size than the encoding symbol size T, namely bytes and bit, respectively, receiving only parts of UDP packets can provide the possibility to decode source blocks which would have not been decoded otherwise. This is as the decoder can be applied independently on T code words.
We refer to this receiver as Permeable-Layer Receiver (PLR) as it allows passing information through the layers at the receiver. In the following we discuss three types of operation modes whereby the last one only serves for setting a performance benchmark. Two practical modes are discussed with different complexity. The presentation here is accompanied by extensive examples in the Appendix.
3.2 Simple PLR
In the first mode of the PLR, in case the entire header, namely the IP/UDP header as well as the RTP and the RTP payload header are correct, we correctly insert encoding symbols, i.e. an entire row in the decoding block although some part of the RTP payload might be lost. Therefore, in general more encoding symbols in the decoding block are available which increases the probability for correct decoding.
3.3 Advanced PLR

In an advanced, but higher-complexity mode of the PLR, again in case the entire headers, namely the IP/UDP header as well as the RTP and the RTP payload header are correct, we insert correctly received bytes in the decoding block although some part of the RTP payload might be lost. In this case the decoder makes use of partly erased and partly correct rows in the decoding block by independently decoding each column. If all columns can be reconstructed, the entire source block is reconstructed. This mode obviously increases the decoding complexity by a factor of T whereby T the encoding symbol size.
3.4 Benchmark PLR

To obtain an indication of the best possible performance we introduce a benchmark PLR in a sense that we assume that all relevant information in the RTP payload header, RTP, UDP, IP, PDCP, etc. can be correctly decoded and any correctly received byte can be inserted into the decoding block. Therefore, any correctly received RTP payload data can be correctly inserted in the source block. Then the same decoding operations as for the advanced PLR are applied. This mode is equivalent to the case that the FEC is applied in the RLC layer over RLC-PDUs.
4 Selected Results
4.1 Simulation Conditions
In 3GPP S4-040348 some details on simulation conditions specifically for the evaluation of FEC methods have been proposed. We have adapted the simulation conditions to appropriately reflect the performance. Obviously, the parameters of the application, e.g. the source packet length, the delay constraints, or the application bit-rate, influence the performance of the system; we use a model which closely reflects the characteristics of a video source. The application is assumed to deliver application packets with variable length, whereby one application layer packets is generated every 100ms reflecting a video frame rate of F=10 frames per second. We assume that the application packets are NAL units. For a given application layer throughput ηAL, we assume an average packet size of S= ηAL/F. The packet length is assumed to be random, whereby the model used assumes iid packet length with uniform distribution between 0.5S and 1.5S. In case that an application packet exceeds a certain maximum threshold Smax, fragmentation according to RFC3984, section 5.8 is used. In any case we assume that a maximum end-to-end delay of δ=5 seconds must not be exceeded.
For the error protection we apply a flexible ideal erasure code with parameters (k,n). The code parameters source block length k and encoding block length n are determined as follows. For a given encoding symbol length T, a given target code rate r, a given number of parity symbols per parity packet, and a given maximum end-to-end delay, we select the largest k and the corresponding largest n such that the maximum end-to-end delay of δ=5 seconds is not exceeded and that the code rate of the code is smaller equal than the target code rate, i.e. k/n ≤ r. Then, for different target code rates r, we evaluate the application layer throughput ηAL taking into account the all header and FEC overhead as well as the Mean-Time Between Failure (MTBF) for this specific code rate. For different system configurations, we plot the MTBF over the application layer throughput ηAL by applying different target code rates r.
For our initial results we do not consider other losses than statistically independent RLC-PDU losses. Cell reselection as well as congestion losses are excluded. At least for streaming applications we do not believe that the FEC will be designed such that it can combat other losses than RLC-PDU losses.

In the following we will present selected simulation results.
4.2 Results for UMTS
Figure 1 shows the MTBF over the application layer throughput for a UMTS-based system with RLC-PDU loss rate 10%, RLC-PDU size 640 bytes, Symbol length T=20, and 30 parity symbols per packet. In any case, throughput can be reduced to obtain higher MTBF, i.e. the overall error rate is reduced. For example for an application layer throughput of 48 kbit/s, the conventional receiver has MTBF of about 7 seconds. The simple and the advanced PLR coincide meaning that the PLR with the same complexity as the Conventional receiver performs as good as the advanced PLR receiver. Compared to the conventional receiver, the MTBF is increased by a factor of more than 10. Also, for the same MTBF, the throughput could be increased by more than 10%. For lower application layer throughput such as 40kbit/s, where the conventional receiver provides acceptable MTBF, the gains are even higher. Even better performance shows the benchmark PLR, meaning that the performance of the PLR is still significantly influenced by header losses. Reduction of header sizes would be beneficial not only in terms of throughput, but also in terms of overall loss probability when combined with the PLR.
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Figure 1 Mean-Time Between Failure for application over application layer throughput for UMTS system with RLC-PDU loss rate 10%, RLC-PDU size 640 bytes, Symbol length T=20, and 30 parity symbols per packet; an ideal code is used.
4.3 Results for GPRS

Figure 2 shows the MTBF over the application layer throughput for a GPRS-based system with RLC-PDU loss rate 1%, RLC-PDU size 30 bytes, 4 combined slots, Symbol length T=20, and 20 parity symbols per packet. Similar effects as for the UMTS-based system are observed. However, one can see that with additional complexity, the system performance can be improved further by using the advanced PLR mode.
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Figure 2 Mean-Time Between Failure for application over application layer throughput for GPRS system with RLC-PDU loss rate 1%, RLC-PDU size 30 bytes, 4 combined slots, Symbol length T=20, and 20 parity symbols per packet; an ideal code is used.

5 Conclusions

From the results and the example we conclude
· Simple receiver modifications without adding additional complexity can improve the performance of MBMS service significantly.

· The applicability of the mode is independent of the codes chosen for MBMS.

· This mode allows increasing the RTP packet size reducing overall header overhead.

· Higher RLC-PDU rates can be easily supported with the PLR.

· If the receiver spends more complexity the performance can be even increased. 

· This advanced receiver is especially beneficial if the RLC-PDU size is small such as GERAN, but also provides significant benefits for systems with higher RLC-PDU sizes as packet alignment is less of an issue.

· The advanced receiver can only be applied if the header is correctly received and the data can be correctly placed in the source block. Therefore, the following is observed and needs to be considered

· The lower layers must be designed appropriately to notify an RLC-PDU erasure as well as the size of the erased data part to the UDP layer. 

· The UDP layer must pass the partly erased payloads, but should drop any wrong or erroneous header data to avoid misplacement. The use of UDP lite according to RFC3828 with an appropriate checksum length configuration could possible solve this problem.

· Longer headers significantly decrease the overall system performance due to increased overhead, but also due to the higher loss probability of sensitive data. Therefore, the reduction of header sizes should be considered for MBMS in combination with FEC.
6 Proposal
We propose to address the permeable-layer receiver after Release 6. In detail, the following issues may be discussed:

· Evaluate the PLR for the codes chosen for MBMS.

· Consider to use UDP lite for MBMS as partly received payload is very useful above UDP layer.

· Consider header compression/reduction for MBMS.
· Consider other necessary extensions for the support of PLR.

· Evaluate additional complexity of PLR.

· Discuss the influence on the overall system design.
· Allow RAN and GERAN modes with higher RLC-PDU loss rates than 1%.

· Optimize the overall system resources as indicated in TDoc R4-050127.
· Consider adopting PLR in standard document for MBMS.
7 Appendix 2: Example

7.1 Encoding Scenario
In the following we will discuss the example as presented in TS 26.346 V1.5.0, section 8.2.1.5. Assume that the RTP packets are H.264/AVC NAL Units. In this case, three NAL units are available with
· The first NAL unit having 14 bytes,
· The second NAL unit having 40 bytes,
· The third NAL Unit having 91 bytes.
	B1,1
	B1,2
	B1,3
	B1,4
	B1,5
	B1,6
	B1,7
	B1,8
	B1,9
	B1,10

	B1,11
	B1,12
	B1,13
	B1,14


	B2,1
	B2,2
	B2,3
	B2,4
	B2,5
	B2,6
	B2,7
	B2,8
	B2,9
	B2,10

	B2,11
	B2,12
	B2,13
	B2,14
	B2,15
	B2,16
	B2,17
	B2,18
	B2,19
	B2,20

	B2,21
	B2,22
	B2,23
	B2,24
	B2,25
	B2,26
	B2,27
	B2,28
	B2,29
	B2,30

	B2,31
	B2,32
	B2,33
	B2,34
	B2,35
	B2,36
	B2,37
	B2,38
	B2,39
	B2,40


	B3,1
	B3,2
	B3,3
	B3,4
	B3,5
	B3,6
	B3,7
	B3,8
	B3,9
	B3,10

	B3,11
	B3,12
	B3,13
	B3,14
	B3,15
	B3,16
	B3,17
	B3,18
	B3,19
	B3,20

	B3,21
	B3,22
	B3,23
	B3,24
	B3,25
	B3,26
	B3,27
	B3,28
	B3,29
	B3,30

	B3,31
	B3,32
	B3,33
	B3,34
	B3,35
	B3,36
	B3,37
	B3,38
	B3,39
	B3,40

	B3,41
	B3,42
	B3,43
	B3,44
	B3,45
	B3,46
	B3,47
	B3,48
	B3,49
	B3,50

	B3,51
	B3,52
	B3,53
	B3,54
	B3,55
	B3,56
	B3,57
	B3,58
	B3,59
	B3,60

	B3,61
	B3,62
	B3,63
	B3,64
	B3,65
	B3,66
	B3,67
	B3,68
	B3,69
	B3,70

	B3,71
	B3,72
	B3,73
	B3,74
	B3,75
	B3,76
	B3,77
	B3,78
	B3,79
	B3,80

	B3,81
	B3,82
	B3,83
	B3,84
	B3,85
	B3,86
	B3,87
	B3,88
	B3,89
	B3,90

	B3,91


With RFC3984 simple packetization mode, the resulting RTP packets have the following size: 

· The first RTP packet has 26 bytes,

· The second RTP packet has 52 bytes,
· The third RTP packet has 103 bytes.

Now assume symbol size T=16. The resulting source block is shown in the following:
	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16

	0
	26
	H1,1
	H1,2
	H1,3
	H1,4
	H1,5
	H1,6
	H1,7
	H1,8
	H1,9
	H1,10
	H1,11
	H1,12
	B1,1
	B1,2

	1
	B1,3
	B1,4
	B1,5
	B1,6
	B1,7
	B1,8
	B1,9
	B1,10
	B1,11
	B1,12
	B1,13
	B1,14
	0
	0
	0
	0

	2
	52
	H2,1
	H2,2
	H2,3
	H2,4
	H2,5
	H2,6
	H2,7
	H2,8
	H2,9
	H2,10
	H2,11
	H2,12
	B2,1
	B2,2

	3
	B2,3
	B2,4
	B2,5
	B2,6
	B2,7
	B2,8
	B2,9
	B2,10
	B2,11
	B2,12
	B2,13
	B2,14
	B2,15
	B2,16
	B2,17
	B2,18

	4
	B2,19
	B2,20
	B2,21
	B2,22
	B2,23
	B2,24
	B2,25
	B2,26
	B2,27
	B2,28
	B2,29
	B2,30
	B2,31
	B2,32
	B2,33
	B2,34

	5
	B2,35
	B2,36
	B2,37
	B2,38
	B2,39
	B2,40
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0

	6
	103
	H3,1
	H3,2
	H3,3
	H3,4
	H3,5
	H3,6
	H3,7
	H3,8
	H3,9
	H3,10
	H3,11
	H3,12
	B3,1
	B3,2

	7
	B3,3
	B3,4
	B3,5
	B3,6
	B3,7
	B3,8
	B3,9
	B3,10
	B3,11
	B3,12
	B3,13
	B3,14
	B3,15
	B3,16
	B3,17
	B3,3

	8
	B3,19
	B3,20
	B3,21
	B3,22
	B3,23
	B3,24
	B3,25
	B3,26
	B3,27
	B3,28
	B3,29
	B3,30
	B3,31
	B3,32
	B3,33
	B3,19

	9
	B3,35
	B3,36
	B3,37
	B3,38
	B3,39
	B3,40
	B3,41
	B3,42
	B3,43
	B3,44
	B3,45
	B3,46
	B3,47
	B3,48
	B3,49
	B3,35

	10
	B3,51
	B3,52
	B3,53
	B3,54
	B3,55
	B3,56
	B3,57
	B3,58
	B3,59
	B3,60
	B3,61
	B3,62
	B3,63
	B3,64
	B3,65
	B3,66

	11
	B3,67
	B3,68
	B3,69
	B3,70
	B3,71
	B3,72
	B3,73
	B3,74
	B3,75
	B3,76
	B3,77
	B3,78
	B3,79
	B3,80
	B3,81
	B3,82

	12
	B3,83
	B3,84
	B3,85
	B3,86
	B3,87
	B3,88
	B3,89
	B3,90
	B3,91
	0
	0
	0
	0
	0
	0
	0

	13
	P1,1
	P1,2
	P1,3
	P1,4
	P1,5
	P1,6
	P1,7
	P1,8
	P1,9
	P1,10
	P1,11
	P1,12
	P1,13
	P1,14
	P1,15
	P1,16

	14
	P2,1
	P2,2
	P2,3
	P2,4
	P2,5
	P2,6
	P2,7
	P2,8
	P2,9
	P2,10
	P2,11
	P2,12
	P2,13
	P2,14
	P2,15
	P2,16

	15
	P3,1
	P3,2
	P3,3
	P3,4
	P3,5
	P3,6
	P3,7
	P3,8
	P3,9
	P3,10
	P3,11
	P3,12
	P3,13
	P3,14
	P3,15
	P3,16

	16
	P4,1
	P4,2
	P4,3
	P4,4
	P4,5
	P4,6
	P4,7
	P4,8
	P4,9
	P4,10
	P4,11
	P4,12
	P4,13
	P4,14
	P4,15
	P4,16

	17
	P5,1
	P5,2
	P5,3
	P5,4
	P5,5
	P5,6
	P5,7
	P5,8
	P5,9
	P5,10
	P5,11
	P5,12
	P5,13
	P5,14
	P5,15
	P5,16

	18
	P6,1
	P6,2
	P6,3
	P6,4
	P6,5
	P6,6
	P6,7
	P6,8
	P6,9
	P6,10
	P6,11
	P6,12
	P6,13
	P6,14
	P6,15
	P6,16

	19
	P7,1
	P7,2
	P7,3
	P7,4
	P7,5
	P7,6
	P7,7
	P7,8
	P7,9
	P7,10
	P7,11
	P7,12
	P7,13
	P7,14
	P7,15
	P7,16

	20
	P8,1
	P8,2
	P8,3
	P8,4
	P8,5
	P8,6
	P8,7
	P8,8
	P8,9
	P8,10
	P8,11
	P8,12
	P8,13
	P8,14
	P8,15
	P8,16


Also shown in the source block are parity symbols. We assume that from the k=13 source symbols we obtain n-k=21 parity symbols. We assume that an ideal code is used.
With this, we obtain the following three source RTP packets
	H1,1
	H1,2
	H1,3
	H1,4
	H1,5
	H1,6
	H1,7
	H1,8
	H1,9
	H1,10

	H1,11
	H1,12
	SBN
	ESI=0
	B1,1
	B1,2
	B1,3
	B1,4
	B1,5

	B1,6
	B1,7
	B1,8
	B1,9
	B1,10
	B1,11
	B1,12
	B1,13
	B1,14


	H2,1
	H2,2
	H2,3
	H2,4
	H2,5
	H2,6
	H2,7
	H2,8
	H2,9
	H2,10

	H2,11
	H2,12
	SBN
	ESI=2
	B2,1
	B2,2
	B2,3
	B2,4
	B2,5

	B2,6
	B2,7
	B2,8
	B2,9
	B2,10
	B2,11
	B2,12
	B2,13
	B2,14
	B2,15

	B2,16
	B2,17
	B2,18
	B2,19
	B2,20
	B2,21
	B2,22
	B2,23
	B2,24
	B2,25

	B2,26
	B2,27
	B2,28
	B2,29
	B2,30
	B2,31
	B2,32
	B2,33
	B2,34
	B2,35

	B2,36
	B2,37
	B2,38
	B2,39
	B2,40


	H3,1
	H3,2
	H3,3
	H3,4
	H3,5
	H3,6
	H3,7
	H3,8
	H3,9
	H3,10

	H3,11
	H3,12
	SBN
	ESI=6
	B3,1
	B3,2
	B3,3
	B3,4
	B3,5

	B3,6
	B3,7
	B3,8
	B3,9
	B3,10
	B3,11
	B3,12
	B3,13
	B3,14
	B3,15

	B3,16
	B3,17
	B3,18
	B3,19
	B3,20
	B3,21
	B3,22
	B3,23
	B3,24
	B3,25

	B3,26
	B3,27
	B3,28
	B3,29
	B3,30
	B3,31
	B3,32
	B3,33
	B3,34
	B3,35

	B3,36
	B3,37
	B3,38
	B3,39
	B3,40
	B3,41
	B3,42
	B3,43
	B3,44
	B3,45

	B3,46
	B3,47
	B3,48
	B3,49
	B3,50
	B3,51
	B3,52
	B3,53
	B3,54
	B3,55

	B3,56
	B3,57
	B3,58
	B3,59
	B3,60
	B3,61
	B3,62
	B3,63
	B3,64
	B3,65

	B3,66
	B3,67
	B3,68
	B3,69
	B3,70
	B3,71
	B3,72
	B3,73
	B3,74
	B3,75

	B3,76
	B3,77
	B3,78
	B3,79
	B3,80
	B3,81
	B3,82
	B3,83
	B3,84
	B3,85

	B3,86
	B3,87
	B3,88
	B3,89
	B3,90
	B3,91


Assume now that two parity symbols are transported in one parity packet such that we obtain the following four parity RTP packets 
	H4,1
	H4,2
	H4,3
	H4,4
	H4,5
	H4,6
	H4,7
	H4,8
	H4,9
	H4,10

	H4,11
	H4,12
	SBN
	ESI=13
	SBL=13
	P1,1
	P1,2
	P1,3

	P1,4
	P1,5
	P1,6
	P1,7
	P1,8
	P1,9
	P1,10
	P1,11
	P1,12
	P1,13

	P1,14
	P1,15
	P1,16
	P2,1
	P2,2
	P2,3
	P2,4
	P2,5
	P2,6
	P2,7

	P2,8
	P2,9
	P2,10
	P2,11
	P2,12
	P2,13
	P2,14
	P2,15
	P2,16


	H5,1
	H5,2
	H5,3
	H5,4
	H5,5
	H5,6
	H5,7
	H5,8
	H5,9
	H5,10

	H5,11
	H5,12
	SBN
	ESI=15
	SBL=13
	P3,1
	P3,2
	P3,3

	P3,4
	P3,5
	P3,6
	P3,7
	P3,8
	P3,9
	P3,10
	P3,11
	P3,12
	P3,13

	P3,14
	P3,15
	P3,16
	P4,1
	P4,2
	P4,3
	P4,4
	P4,5
	P4,6
	P4,7

	P4,8
	P4,9
	P4,10
	P4,11
	P4,12
	P4,13
	P4,14
	P4,15
	P4,16


	H6,1
	H6,2
	H6,3
	H6,4
	H6,5
	H6,6
	H6,7
	H6,8
	H6,9
	H6,10

	H6,11
	H6,12
	SBN
	ESI=13
	SBL=17
	P5,1
	P5,2
	P5,3

	P5,4
	P5,5
	P5,6
	P5,7
	P5,8
	P5,9
	P5,10
	P5,11
	P5,12
	P5,13

	P5,14
	P5,15
	P5,16
	P6,1
	P6,2
	P6,3
	P6,4
	P6,5
	P6,6
	P6,7

	P6,8
	P6,9
	P6,10
	P6,11
	P6,12
	P6,13
	P6,14
	P6,15
	P6,16


	H7,1
	H7,2
	H7,3
	H7,4
	H7,5
	H7,6
	H7,7
	H7,8
	H7,9
	H7,10

	H7,11
	H7,12
	SBN
	ESI=13
	SBL=19
	P7,1
	P7,2
	P7,3

	P7,4
	P7,5
	P7,6
	P7,7
	P7,8
	P7,9
	P7,10
	P7,11
	P7,12
	P7,13

	P7,14
	P7,15
	P7,16
	P8,1
	P8,2
	P8,3
	P8,4
	P8,5
	P8,6
	P8,7

	P8,8
	P8,9
	P8,10
	P8,11
	P8,12
	P8,13
	P8,14
	P8,15
	P8,16


Assume now that all RTP packets of this group are now transmitted over radio blocks of size 30 bytes. For ease of exposition we do not consider the additional UDP/IP/PDCP overhead. Then we obtain the following sequence of bytes and the appropriate ordering in the 13 RLC-PDUs.

	1
	H1,1
	H1,2
	H1,3
	H1,4
	H1,5
	H1,6
	H1,7
	H1,8
	H1,9
	H1,10

	
	H1,11
	H1,12
	SBN
	ESI=0
	B1,1
	B1,2
	B1,3
	B1,4
	B1,5

	
	B1,6
	B1,7
	B1,8
	B1,9
	B1,10
	B1,11
	B1,12
	B1,13
	B1,14
	H2,1

	2
	H2,2
	H2,3
	H2,4
	H2,5
	H2,6
	H2,7
	H2,8
	H2,9
	H2,10
	H2,11

	
	H2,12
	SBN
	ESI=2
	B2,1
	B2,2
	B2,3
	B2,4
	B2,5
	B2,5

	
	B2,7
	B2,8
	B2,9
	B2,10
	B2,11
	B2,12
	B2,13
	B2,14
	B2,15
	B2,16

	3
	B2,17
	B2,18
	B2,19
	B2,20
	B2,21
	B2,22
	B2,23
	B2,24
	B2,25
	B2,26

	
	B2,27
	B2,28
	B2,29
	B2,30
	B2,31
	B2,32
	B2,33
	B2,34
	B2,35
	B2,36

	
	B2,37
	B2,38
	B2,39
	B2,40
	H3,1
	H3,2
	H3,3
	H3,4
	H3,5
	H3,6

	4
	H3,7
	H3,8
	H3,9
	H3,10
	H3,11
	H3,12
	SBN
	ESI=6
	B3,1

	
	B3,2
	B3,3
	B3,4
	B3,5
	B3,6
	B3,7
	B3,8
	B3,9
	B3,10
	B3,11

	
	B3,12
	B3,13
	B3,14
	B3,15
	B3,16
	B3,17
	B3,18
	B3,19
	B3,20
	B3,21

	5
	B3,22
	B3,23
	B3,24
	B3,25
	B3,26
	B3,27
	B3,28
	B3,29
	B3,30
	B3,31

	
	B3,32
	B3,33
	B3,34
	B3,35
	B3,36
	B3,37
	B3,38
	B3,39
	B3,40
	B3,41

	
	B3,42
	B3,43
	B3,44
	B3,45
	B3,46
	B3,47
	B3,48
	B3,49
	B3,50
	B3,51

	6
	B3,52
	B3,53
	B3,54
	B3,55
	B3,56
	B3,57
	B3,58
	B3,59
	B3,60
	B3,61

	
	B3,62
	B3,63
	B3,64
	B3,65
	B3,66
	B3,67
	B3,68
	B3,69
	B3,70
	B3,71

	
	B3,72
	B3,73
	B3,74
	B3,75
	B3,76
	B3,77
	B3,78
	B3,79
	B3,80
	B3,81

	7
	B3,82
	B3,83
	B3,84
	B3,85
	B3,86
	B3,87
	B3,88
	B3,89
	B3,90
	B3,91

	
	H4,1
	H4,2
	H4,3
	H4,4
	H4,5
	H4,6
	H4,7
	H4,8
	H4,9
	H4,10

	
	H4,11
	H4,12
	SBN
	ESI=13
	SBL=13
	P1,1
	P1,2
	P1,3

	8
	P1,4
	P1,5
	P1,6
	P1,7
	P1,8
	P1,9
	P1,10
	P1,11
	P1,12
	P1,13

	
	P1,14
	P1,15
	P1,16
	P2,1
	P2,2
	P2,3
	P2,4
	P2,5
	P2,6
	P2,7

	
	P2,8
	P2,9
	P2,10
	P2,11
	P2,12
	P2,13
	P2,14
	P2,15
	P2,16
	H5,1

	9
	H5,2
	H5,3
	H5,4
	H5,5
	H5,6
	H5,7
	H5,8
	H5,9
	H5,10
	H5,11

	
	H5,12
	SBN
	ESI=15
	SBL=13
	P3,1
	P3,2
	P3,3
	P3,4

	
	P3,5
	P3,6
	P3,7
	P3,8
	P3,9
	P3,10
	P3,11
	P3,12
	P3,13
	P3,14

	10
	P3,15
	P3,16
	P4,1
	P4,2
	P4,3
	P4,4
	P4,5
	P4,6
	P4,7
	P4,8

	
	P4,8
	P4,9
	P4,10
	P4,11
	P4,12
	P4,13
	P4,14
	P4,15
	H6,1
	H6,2

	
	H6,3
	H6,4
	H6,5
	H6,6
	H6,7
	H6,8
	H6,9
	H6,10
	H6,11
	H6,12

	11
	SBN
	ESI=17
	SBL=13
	P5,1
	P5,2
	P5,3
	P5,4
	P5,5

	
	P5,6
	P5,7
	P5,8
	P5,9
	P5,10
	P5,11
	P5,12
	P5,13
	P5,14
	P5,15

	
	P5,16
	P6,1
	P6,2
	P6,3
	P6,4
	P6,5
	P6,6
	P6,7
	P6,8
	P6,9

	12
	P6,10
	P6,11
	P6,12
	P6,13
	P6,14
	P6,15
	P6,16
	H7,1
	H7,2
	H7,3

	
	H7,4
	H7,5
	H7,6
	H7,7
	H7,8
	H7,9
	H7,10
	H7,11
	H7,12
	SBN

	
	ESI=19
	SBL=13
	P7,1
	P7,2
	P7,3
	P7,4
	P7,5
	P7,6

	13
	P7,7
	P7,8
	P7,9
	P7,10
	P7,11
	P7,12
	P7,14
	P7,14
	P7,15
	P7,16

	
	P8,1
	P8,2
	P8,3
	P8,4
	P8,5
	P8,6
	P8,7
	P8,8
	P8,9
	P8,10

	
	P8,11
	P8,12
	P8,13
	P8,14
	P8,15
	P8,16
	
	
	
	


7.2 Channel Scenario 1
Let us assume for this case that only RLC-PDU 7 is lost:
	1
	H1,1
	H1,2
	H1,3
	H1,4
	H1,5
	H1,6
	H1,7
	H1,8
	H1,9
	H1,10

	
	H1,11
	H1,12
	SBN
	ESI=0
	B1,1
	B1,2
	B1,3
	B1,4
	B1,5

	
	B1,6
	B1,7
	B1,8
	B1,9
	B1,10
	B1,11
	B1,12
	B1,13
	B1,14
	H2,1

	2
	H2,2
	H2,3
	H2,4
	H2,5
	H2,6
	H2,7
	H2,8
	H2,9
	H2,10
	H2,11

	
	H2,12
	SBN
	ESI=2
	B2,1
	B2,2
	B2,3
	B2,4
	B2,5
	B2,5

	
	B2,7
	B2,8
	B2,9
	B2,10
	B2,11
	B2,12
	B2,13
	B2,14
	B2,15
	B2,16

	3
	B2,17
	B2,18
	B2,19
	B2,20
	B2,21
	B2,22
	B2,23
	B2,24
	B2,25
	B2,26

	
	B2,27
	B2,28
	B2,29
	B2,30
	B2,31
	B2,32
	B2,33
	B2,34
	B2,35
	B2,36

	
	B2,37
	B2,38
	B2,39
	B2,40
	H3,1
	H3,2
	H3,3
	H3,4
	H3,5
	H3,6

	4
	H3,7
	H3,8
	H3,9
	H3,10
	H3,11
	H3,12
	SBN
	ESI=6
	B3,1

	
	B3,2
	B3,3
	B3,4
	B3,5
	B3,6
	B3,7
	B3,8
	B3,9
	B3,10
	B3,11

	
	B3,12
	B3,13
	B3,14
	B3,15
	B3,16
	B3,17
	B3,18
	B3,19
	B3,20
	B3,21

	5
	B3,22
	B3,23
	B3,24
	B3,25
	B3,26
	B3,27
	B3,28
	B3,29
	B3,30
	B3,31

	
	B3,32
	B3,33
	B3,34
	B3,35
	B3,36
	B3,37
	B3,38
	B3,39
	B3,40
	B3,41

	
	B3,42
	B3,43
	B3,44
	B3,45
	B3,46
	B3,47
	B3,48
	B3,49
	B3,50
	B3,51

	6
	B3,52
	B3,53
	B3,54
	B3,55
	B3,56
	B3,57
	B3,58
	B3,59
	B3,60
	B3,61

	
	B3,62
	B3,63
	B3,64
	B3,65
	B3,66
	B3,67
	B3,68
	B3,69
	B3,70
	B3,71

	
	B3,72
	B3,73
	B3,74
	B3,75
	B3,76
	B3,77
	B3,78
	B3,79
	B3,80
	B3,81

	7
	B3,82
	B3,83
	B3,84
	B3,85
	B3,86
	B3,87
	B3,88
	B3,89
	B3,90
	B3,91

	
	H4,1
	H4,2
	H4,3
	H4,4
	H4,5
	H4,6
	H4,7
	H4,8
	H4,9
	H4,10

	
	H4,11
	H4,12
	SBN
	ESI=13
	SBL=13
	P1,1
	P1,2
	P1,3

	8
	P1,4
	P1,5
	P1,6
	P1,7
	P1,8
	P1,9
	P1,10
	P1,11
	P1,12
	P1,13

	
	P1,14
	P1,15
	P1,16
	P2,1
	P2,2
	P2,3
	P2,4
	P2,5
	P2,6
	P2,7

	
	P2,8
	P2,9
	P2,10
	P2,11
	P2,12
	P2,13
	P2,14
	P2,15
	P2,16
	H5,1

	9
	H5,2
	H5,3
	H5,4
	H5,5
	H5,6
	H5,7
	H5,8
	H5,9
	H5,10
	H5,11

	
	H5,12
	SBN
	ESI=15
	SBL=13
	P3,1
	P3,2
	P3,3
	P3,4

	
	P3,5
	P3,6
	P3,7
	P3,8
	P3,9
	P3,10
	P3,11
	P3,12
	P3,13
	P3,14

	10
	P3,15
	P3,16
	P4,1
	P4,2
	P4,3
	P4,4
	P4,5
	P4,6
	P4,7
	P4,8

	
	P4,8
	P4,9
	P4,10
	P4,11
	P4,12
	P4,13
	P4,14
	P4,15
	H6,1
	H6,2

	
	H6,3
	H6,4
	H6,5
	H6,6
	H6,7
	H6,8
	H6,9
	H6,10
	H6,11
	H6,12

	11
	SBN
	ESI=17
	SBL=13
	P5,1
	P5,2
	P5,3
	P5,4
	P5,5

	
	P5,6
	P5,7
	P5,8
	P5,9
	P5,10
	P5,11
	P5,12
	P5,13
	P5,14
	P5,15

	
	P5,16
	P6,1
	P6,2
	P6,3
	P6,4
	P6,5
	P6,6
	P6,7
	P6,8
	P6,9

	12
	P6,10
	P6,11
	P6,12
	P6,13
	P6,14
	P6,15
	P6,16
	H7,1
	H7,2
	H7,3

	
	H7,4
	H7,5
	H7,6
	H7,7
	H7,8
	H7,9
	H7,10
	H7,11
	H7,12
	SBN

	
	ESI=19
	SBL=13
	P7,1
	P7,2
	P7,3
	P7,4
	P7,5
	P7,6

	13
	P7,7
	P7,8
	P7,9
	P7,10
	P7,11
	P7,12
	P7,14
	P7,14
	P7,15
	P7,16

	
	P8,1
	P8,2
	P8,3
	P8,4
	P8,5
	P8,6
	P8,7
	P8,8
	P8,9
	P8,10

	
	P8,11
	P8,12
	P8,13
	P8,14
	P8,15
	P8,16
	
	
	
	


We will now compare the decoding result of different receivers.

Conventional Receiver

The Conventional receiver drops two RTP packets, namely source packet 3 and the first parity packet being RTP packet 4. Therefore, in the decoding we have the following structure:

	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16

	0
	26
	H1,1
	H1,2
	H1,3
	H1,4
	H1,5
	H1,6
	H1,7
	H1,8
	H1,9
	H1,10
	H1,11
	H1,12
	B1,1
	B1,2

	1
	B1,3
	B1,4
	B1,5
	B1,6
	B1,7
	B1,8
	B1,9
	B1,10
	B1,11
	B1,12
	B1,13
	B1,14
	0
	0
	0
	0

	2
	52
	H2,1
	H2,2
	H2,3
	H2,4
	H2,5
	H2,6
	H2,7
	H2,8
	H2,9
	H2,10
	H2,11
	H2,12
	B2,1
	B2,2

	3
	B2,3
	B2,4
	B2,5
	B2,6
	B2,7
	B2,8
	B2,9
	B2,10
	B2,11
	B2,12
	B2,13
	B2,14
	B2,15
	B2,16
	B2,17
	B2,18

	4
	B2,19
	B2,20
	B2,21
	B2,22
	B2,23
	B2,24
	B2,25
	B2,26
	B2,27
	B2,28
	B2,29
	B2,30
	B2,31
	B2,32
	B2,33
	B2,34

	5
	B2,35
	B2,36
	B2,37
	B2,38
	B2,39
	B2,40
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0

	6
	103
	H3,1
	H3,2
	H3,3
	H3,4
	H3,5
	H3,6
	H3,7
	H3,8
	H3,9
	H3,10
	H3,11
	H3,12
	B3,1
	B3,2

	7
	B3,3
	B3,4
	B3,5
	B3,6
	B3,7
	B3,8
	B3,9
	B3,10
	B3,11
	B3,12
	B3,13
	B3,14
	B3,15
	B3,16
	B3,17
	B3,18

	8
	B3,19
	B3,20
	B3,21
	B3,22
	B3,23
	B3,24
	B3,25
	B3,26
	B3,27
	B3,28
	B3,29
	B3,30
	B3,31
	B3,32
	B3,33
	B3,34

	9
	B3,35
	B3,36
	B3,37
	B3,38
	B3,39
	B3,40
	B3,41
	B3,42
	B3,43
	B3,44
	B3,45
	B3,46
	B3,47
	B3,48
	B3,49
	B3,50

	10
	B3,51
	B3,52
	B3,53
	B3,54
	B3,55
	B3,56
	B3,57
	B3,58
	B3,59
	B3,60
	B3,61
	B3,62
	B3,63
	B3,64
	B3,65
	B3,66

	11
	B3,67
	B3,68
	B3,69
	B3,70
	B3,71
	B3,72
	B3,73
	B3,74
	B3,75
	B3,76
	B3,77
	B3,78
	B3,79
	B3,80
	B3,81
	B3,82

	12
	B3,83
	B3,84
	B3,85
	B3,86
	B3,87
	B3,88
	B3,89
	B3,90
	B3,91
	0
	0
	0
	0
	0
	0
	0

	13
	P1,1
	P1,2
	P1,3
	P1,4
	P1,5
	P1,6
	P1,7
	P1,8
	P1,9
	P1,10
	P1,11
	P1,12
	P1,13
	P1,14
	P1,15
	P1,16

	14
	P2,1
	P2,2
	P2,3
	P2,4
	P2,5
	P2,6
	P2,7
	P2,8
	P2,9
	P2,10
	P2,11
	P2,12
	P2,13
	P2,14
	P2,15
	P2,16

	15
	P3,1
	P3,2
	P3,3
	P3,4
	P3,5
	P3,6
	P3,7
	P3,8
	P3,9
	P3,10
	P3,11
	P3,12
	P3,13
	P3,14
	P3,15
	P3,16

	16
	P4,1
	P4,2
	P4,3
	P4,4
	P4,5
	P4,6
	P4,7
	P4,8
	P4,9
	P4,10
	P4,11
	P4,12
	P4,13
	P4,14
	P4,15
	P4,16

	17
	P5,1
	P5,2
	P5,3
	P5,4
	P5,5
	P5,6
	P5,7
	P5,8
	P5,9
	P5,10
	P5,11
	P5,12
	P5,13
	P5,14
	P5,15
	P5,16

	18
	P6,1
	P6,2
	P6,3
	P6,4
	P6,5
	P6,6
	P6,7
	P6,8
	P6,9
	P6,10
	P6,11
	P6,12
	P6,13
	P6,14
	P6,15
	P6,16

	19
	P7,1
	P7,2
	P7,3
	P7,4
	P7,5
	P7,6
	P7,7
	P7,8
	P7,9
	P7,10
	P7,11
	P7,12
	P7,13
	P7,14
	P7,15
	P7,16

	20
	P8,1
	P8,2
	P8,3
	P8,4
	P8,5
	P8,6
	P8,7
	P8,8
	P8,9
	P8,10
	P8,11
	P8,12
	P8,13
	P8,14
	P8,15
	P8,16


It is immediately observed that with this strategy the source block cannot be recovered and the third RTP packet is lost.

Simple PLR
The simple PLR only drops parts of the third source RTP packet, less columns in the source block at the decoder are erased. We have the following structure:

	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16

	0
	26
	H1,1
	H1,2
	H1,3
	H1,4
	H1,5
	H1,6
	H1,7
	H1,8
	H1,9
	H1,10
	H1,11
	H1,12
	B1,1
	B1,2

	1
	B1,3
	B1,4
	B1,5
	B1,6
	B1,7
	B1,8
	B1,9
	B1,10
	B1,11
	B1,12
	B1,13
	B1,14
	0
	0
	0
	0

	2
	52
	H2,1
	H2,2
	H2,3
	H2,4
	H2,5
	H2,6
	H2,7
	H2,8
	H2,9
	H2,10
	H2,11
	H2,12
	B2,1
	B2,2

	3
	B2,3
	B2,4
	B2,5
	B2,6
	B2,7
	B2,8
	B2,9
	B2,10
	B2,11
	B2,12
	B2,13
	B2,14
	B2,15
	B2,16
	B2,17
	B2,18

	4
	B2,19
	B2,20
	B2,21
	B2,22
	B2,23
	B2,24
	B2,25
	B2,26
	B2,27
	B2,28
	B2,29
	B2,30
	B2,31
	B2,32
	B2,33
	B2,34

	5
	B2,35
	B2,36
	B2,37
	B2,38
	B2,39
	B2,40
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0

	6
	103
	H3,1
	H3,2
	H3,3
	H3,4
	H3,5
	H3,6
	H3,7
	H3,8
	H3,9
	H3,10
	H3,11
	H3,12
	B3,1
	B3,2

	7
	B3,3
	B3,4
	B3,5
	B3,6
	B3,7
	B3,8
	B3,9
	B3,10
	B3,11
	B3,12
	B3,13
	B3,14
	B3,15
	B3,16
	B3,17
	B3,18

	8
	B3,19
	B3,20
	B3,21
	B3,22
	B3,23
	B3,24
	B3,25
	B3,26
	B3,27
	B3,28
	B3,29
	B3,30
	B3,31
	B3,32
	B3,33
	B3,34

	9
	B3,35
	B3,36
	B3,37
	B3,38
	B3,39
	B3,40
	B3,41
	B3,42
	B3,43
	B3,44
	B3,45
	B3,46
	B3,47
	B3,48
	B3,49
	B3,50

	10
	B3,51
	B3,52
	B3,53
	B3,54
	B3,55
	B3,56
	B3,57
	B3,58
	B3,59
	B3,60
	B3,61
	B3,62
	B3,63
	B3,64
	B3,65
	B3,66

	11
	B3,67
	B3,68
	B3,69
	B3,70
	B3,71
	B3,72
	B3,73
	B3,74
	B3,75
	B3,76
	B3,77
	B3,78
	B3,79
	B3,80
	B3,81
	B3,82

	12
	B3,83
	B3,84
	B3,85
	B3,86
	B3,87
	B3,88
	B3,89
	B3,90
	B3,91
	0
	0
	0
	0
	0
	0
	0

	13
	P1,1
	P1,2
	P1,3
	P1,4
	P1,5
	P1,6
	P1,7
	P1,8
	P1,9
	P1,10
	P1,11
	P1,12
	P1,13
	P1,14
	P1,15
	P1,16

	14
	P2,1
	P2,2
	P2,3
	P2,4
	P2,5
	P2,6
	P2,7
	P2,8
	P2,9
	P2,10
	P2,11
	P2,12
	P2,13
	P2,14
	P2,15
	P2,16

	15
	P3,1
	P3,2
	P3,3
	P3,4
	P3,5
	P3,6
	P3,7
	P3,8
	P3,9
	P3,10
	P3,11
	P3,12
	P3,13
	P3,14
	P3,15
	P3,16

	16
	P4,1
	P4,2
	P4,3
	P4,4
	P4,5
	P4,6
	P4,7
	P4,8
	P4,9
	P4,10
	P4,11
	P4,12
	P4,13
	P4,14
	P4,15
	P4,16

	17
	P5,1
	P5,2
	P5,3
	P5,4
	P5,5
	P5,6
	P5,7
	P5,8
	P5,9
	P5,10
	P5,11
	P5,12
	P5,13
	P5,14
	P5,15
	P5,16

	18
	P6,1
	P6,2
	P6,3
	P6,4
	P6,5
	P6,6
	P6,7
	P6,8
	P6,9
	P6,10
	P6,11
	P6,12
	P6,13
	P6,14
	P6,15
	P6,16

	19
	P7,1
	P7,2
	P7,3
	P7,4
	P7,5
	P7,6
	P7,7
	P7,8
	P7,9
	P7,10
	P7,11
	P7,12
	P7,13
	P7,14
	P7,15
	P7,16

	20
	P8,1
	P8,2
	P8,3
	P8,4
	P8,5
	P8,6
	P8,7
	P8,8
	P8,9
	P8,10
	P8,11
	P8,12
	P8,13
	P8,14
	P8,15
	P8,16


It is observed that with this strategy the source block can be recovered as in each column sufficient data is available. Obviously, also the advanced and the benchmark PLR can decode.
7.3 Channel Scenario 2

For the realistic PLR receiver, in addition to loss of radio block 7 all radio blocks except radio block 3 could be lost and recovery would still be possible. However, in a second channel scenario, let us assume that in addition to radio block 7 also radio block 5 and 12 are lost. 
	1
	H1,1
	H1,2
	H1,3
	H1,4
	H1,5
	H1,6
	H1,7
	H1,8
	H1,9
	H1,10

	
	H1,11
	H1,12
	SBN
	ESI=0
	B1,1
	B1,2
	B1,3
	B1,4
	B1,5

	
	B1,6
	B1,7
	B1,8
	B1,9
	B1,10
	B1,11
	B1,12
	B1,13
	B1,14
	H2,1

	2
	H2,2
	H2,3
	H2,4
	H2,5
	H2,6
	H2,7
	H2,8
	H2,9
	H2,10
	H2,11

	
	H2,12
	SBN
	ESI=2
	B2,1
	B2,2
	B2,3
	B2,4
	B2,5
	B2,5

	
	B2,7
	B2,8
	B2,9
	B2,10
	B2,11
	B2,12
	B2,13
	B2,14
	B2,15
	B2,16

	3
	B2,17
	B2,18
	B2,19
	B2,20
	B2,21
	B2,22
	B2,23
	B2,24
	B2,25
	B2,26

	
	B2,27
	B2,28
	B2,29
	B2,30
	B2,31
	B2,32
	B2,33
	B2,34
	B2,35
	B2,36

	
	B2,37
	B2,38
	B2,39
	B2,40
	H3,1
	H3,2
	H3,3
	H3,4
	H3,5
	H3,6

	4
	H3,7
	H3,8
	H3,9
	H3,10
	H3,11
	H3,12
	SBN
	ESI=6
	B3,1

	
	B3,2
	B3,3
	B3,4
	B3,5
	B3,6
	B3,7
	B3,8
	B3,9
	B3,10
	B3,11

	
	B3,12
	B3,13
	B3,14
	B3,15
	B3,16
	B3,17
	B3,18
	B3,19
	B3,20
	B3,21

	5
	B3,22
	B3,23
	B3,24
	B3,25
	B3,26
	B3,27
	B3,28
	B3,29
	B3,30
	B3,31

	
	B3,32
	B3,33
	B3,34
	B3,35
	B3,36
	B3,37
	B3,38
	B3,39
	B3,40
	B3,41

	
	B3,42
	B3,43
	B3,44
	B3,45
	B3,46
	B3,47
	B3,48
	B3,49
	B3,50
	B3,51

	6
	B3,52
	B3,53
	B3,54
	B3,55
	B3,56
	B3,57
	B3,58
	B3,59
	B3,60
	B3,61

	
	B3,62
	B3,63
	B3,64
	B3,65
	B3,66
	B3,67
	B3,68
	B3,69
	B3,70
	B3,71

	
	B3,72
	B3,73
	B3,74
	B3,75
	B3,76
	B3,77
	B3,78
	B3,79
	B3,80
	B3,81

	7
	B3,82
	B3,83
	B3,84
	B3,85
	B3,86
	B3,87
	B3,88
	B3,89
	B3,90
	B3,91

	
	H4,1
	H4,2
	H4,3
	H4,4
	H4,5
	H4,6
	H4,7
	H4,8
	H4,9
	H4,10

	
	H4,11
	H4,12
	SBN
	ESI=13
	SBL=13
	P1,1
	P1,2
	P1,3

	8
	P1,4
	P1,5
	P1,6
	P1,7
	P1,8
	P1,9
	P1,10
	P1,11
	P1,12
	P1,13

	
	P1,14
	P1,15
	P1,16
	P2,1
	P2,2
	P2,3
	P2,4
	P2,5
	P2,6
	P2,7

	
	P2,8
	P2,9
	P2,10
	P2,11
	P2,12
	P2,13
	P2,14
	P2,15
	P2,16
	H5,1

	9
	H5,2
	H5,3
	H5,4
	H5,5
	H5,6
	H5,7
	H5,8
	H5,9
	H5,10
	H5,11

	
	H5,12
	SBN
	ESI=15
	SBL=13
	P3,1
	P3,2
	P3,3
	P3,4

	
	P3,5
	P3,6
	P3,7
	P3,8
	P3,9
	P3,10
	P3,11
	P3,12
	P3,13
	P3,14

	10
	P3,15
	P3,16
	P4,1
	P4,2
	P4,3
	P4,4
	P4,5
	P4,6
	P4,7
	P4,8

	
	P4,8
	P4,9
	P4,10
	P4,11
	P4,12
	P4,13
	P4,14
	P4,15
	H6,1
	H6,2

	
	H6,3
	H6,4
	H6,5
	H6,6
	H6,7
	H6,8
	H6,9
	H6,10
	H6,11
	H6,12

	11
	SBN
	ESI=17
	SBL=13
	P5,1
	P5,2
	P5,3
	P5,4
	P5,5

	
	P5,6
	P5,7
	P5,8
	P5,9
	P5,10
	P5,11
	P5,12
	P5,13
	P5,14
	P5,15

	
	P5,16
	P6,1
	P6,2
	P6,3
	P6,4
	P6,5
	P6,6
	P6,7
	P6,8
	P6,9

	12
	P6,10
	P6,11
	P6,12
	P6,13
	P6,14
	P6,15
	P6,16
	H7,1
	H7,2
	H7,3

	
	H7,4
	H7,5
	H7,6
	H7,7
	H7,8
	H7,9
	H7,10
	H7,11
	H7,12
	SBN

	
	ESI=19
	SBL=13
	P7,1
	P7,2
	P7,3
	P7,4
	P7,5
	P7,6

	13
	P7,7
	P7,8
	P7,9
	P7,10
	P7,11
	P7,12
	P7,14
	P7,14
	P7,15
	P7,16

	
	P8,1
	P8,2
	P8,3
	P8,4
	P8,5
	P8,6
	P8,7
	P8,8
	P8,9
	P8,10

	
	P8,11
	P8,12
	P8,13
	P8,14
	P8,15
	P8,16
	
	
	
	


Obviously, the Conventional receiver cannot decode this block. We will investigate the other receivers.
Simple PLR
The simple PLR only drops rows in the source block at the decoder, but not necessarily entire packets, if the header is correctly received. We have the following structure:

	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16

	0
	26
	H1,1
	H1,2
	H1,3
	H1,4
	H1,5
	H1,6
	H1,7
	H1,8
	H1,9
	H1,10
	H1,11
	H1,12
	B1,1
	B1,2

	1
	B1,3
	B1,4
	B1,5
	B1,6
	B1,7
	B1,8
	B1,9
	B1,10
	B1,11
	B1,12
	B1,13
	B1,14
	0
	0
	0
	0

	2
	52
	H2,1
	H2,2
	H2,3
	H2,4
	H2,5
	H2,6
	H2,7
	H2,8
	H2,9
	H2,10
	H2,11
	H2,12
	B2,1
	B2,2

	3
	B2,3
	B2,4
	B2,5
	B2,6
	B2,7
	B2,8
	B2,9
	B2,10
	B2,11
	B2,12
	B2,13
	B2,14
	B2,15
	B2,16
	B2,17
	B2,18

	4
	B2,19
	B2,20
	B2,21
	B2,22
	B2,23
	B2,24
	B2,25
	B2,26
	B2,27
	B2,28
	B2,29
	B2,30
	B2,31
	B2,32
	B2,33
	B2,34

	5
	B2,35
	B2,36
	B2,37
	B2,38
	B2,39
	B2,40
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0

	6
	103
	H3,1
	H3,2
	H3,3
	H3,4
	H3,5
	H3,6
	H3,7
	H3,8
	H3,9
	H3,10
	H3,11
	H3,12
	B3,1
	B3,2

	7
	B3,3
	B3,4
	B3,5
	B3,6
	B3,7
	B3,8
	B3,9
	B3,10
	B3,11
	B3,12
	B3,13
	B3,14
	B3,15
	B3,16
	B3,17
	B3,18

	8
	B3,19
	B3,20
	B3,21
	B3,22
	B3,23
	B3,24
	B3,25
	B3,26
	B3,27
	B3,28
	B3,29
	B3,30
	B3,31
	B3,32
	B3,33
	B3,34

	9
	B3,35
	B3,36
	B3,37
	B3,38
	B3,39
	B3,40
	B3,41
	B3,42
	B3,43
	B3,44
	B3,45
	B3,46
	B3,47
	B3,48
	B3,49
	B3,50

	10
	B3,51
	B3,52
	B3,53
	B3,54
	B3,55
	B3,56
	B3,57
	B3,58
	B3,59
	B3,60
	B3,61
	B3,62
	B3,63
	B3,64
	B3,65
	B3,66

	11
	B3,67
	B3,68
	B3,69
	B3,70
	B3,71
	B3,72
	B3,73
	B3,74
	B3,75
	B3,76
	B3,77
	B3,78
	B3,79
	B3,80
	B3,81
	B3,82

	12
	B3,83
	B3,84
	B3,85
	B3,86
	B3,87
	B3,88
	B3,89
	B3,90
	B3,91
	0
	0
	0
	0
	0
	0
	0

	13
	P1,1
	P1,2
	P1,3
	P1,4
	P1,5
	P1,6
	P1,7
	P1,8
	P1,9
	P1,10
	P1,11
	P1,12
	P1,13
	P1,14
	P1,15
	P1,16

	14
	P2,1
	P2,2
	P2,3
	P2,4
	P2,5
	P2,6
	P2,7
	P2,8
	P2,9
	P2,10
	P2,11
	P2,12
	P2,13
	P2,14
	P2,15
	P2,16

	15
	P3,1
	P3,2
	P3,3
	P3,4
	P3,5
	P3,6
	P3,7
	P3,8
	P3,9
	P3,10
	P3,11
	P3,12
	P3,13
	P3,14
	P3,15
	P3,16

	16
	P4,1
	P4,2
	P4,3
	P4,4
	P4,5
	P4,6
	P4,7
	P4,8
	P4,9
	P4,10
	P4,11
	P4,12
	P4,13
	P4,14
	P4,15
	P4,16

	17
	P5,1
	P5,2
	P5,3
	P5,4
	P5,5
	P5,6
	P5,7
	P5,8
	P5,9
	P5,10
	P5,11
	P5,12
	P5,13
	P5,14
	P5,15
	P5,16

	18
	P6,1
	P6,2
	P6,3
	P6,4
	P6,5
	P6,6
	P6,7
	P6,8
	P6,9
	P6,10
	P6,11
	P6,12
	P6,13
	P6,14
	P6,15
	P6,16

	19
	P7,1
	P7,2
	P7,3
	P7,4
	P7,5
	P7,6
	P7,7
	P7,8
	P7,9
	P7,10
	P7,11
	P7,12
	P7,13
	P7,14
	P7,15
	P7,16

	20
	P8,1
	P8,2
	P8,3
	P8,4
	P8,5
	P8,6
	P8,7
	P8,8
	P8,9
	P8,10
	P8,11
	P8,12
	P8,13
	P8,14
	P8,15
	P8,16


With the simple PLR, too many rows, namely nine are erased, i.e. the reconstruction is not feasible.
Advanced PLR
The advanced PLR only drops individual symbols, but not necessarily entire packets or entire rows, if the header is correctly received. We have the following structure:

	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16

	0
	26
	H1,1
	H1,2
	H1,3
	H1,4
	H1,5
	H1,6
	H1,7
	H1,8
	H1,9
	H1,10
	H1,11
	H1,12
	B1,1
	B1,2

	1
	B1,3
	B1,4
	B1,5
	B1,6
	B1,7
	B1,8
	B1,9
	B1,10
	B1,11
	B1,12
	B1,13
	B1,14
	0
	0
	0
	0

	2
	52
	H2,1
	H2,2
	H2,3
	H2,4
	H2,5
	H2,6
	H2,7
	H2,8
	H2,9
	H2,10
	H2,11
	H2,12
	B2,1
	B2,2

	3
	B2,3
	B2,4
	B2,5
	B2,6
	B2,7
	B2,8
	B2,9
	B2,10
	B2,11
	B2,12
	B2,13
	B2,14
	B2,15
	B2,16
	B2,17
	B2,18

	4
	B2,19
	B2,20
	B2,21
	B2,22
	B2,23
	B2,24
	B2,25
	B2,26
	B2,27
	B2,28
	B2,29
	B2,30
	B2,31
	B2,32
	B2,33
	B2,34

	5
	B2,35
	B2,36
	B2,37
	B2,38
	B2,39
	B2,40
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0

	6
	103
	H3,1
	H3,2
	H3,3
	H3,4
	H3,5
	H3,6
	H3,7
	H3,8
	H3,9
	H3,10
	H3,11
	H3,12
	B3,1
	B3,2

	7
	B3,3
	B3,4
	B3,5
	B3,6
	B3,7
	B3,8
	B3,9
	B3,10
	B3,11
	B3,12
	B3,13
	B3,14
	B3,15
	B3,16
	B3,17
	B3,18

	8
	B3,19
	B3,20
	B3,21
	B3,22
	B3,23
	B3,24
	B3,25
	B3,26
	B3,27
	B3,28
	B3,29
	B3,30
	B3,31
	B3,32
	B3,33
	B3,34

	9
	B3,35
	B3,36
	B3,37
	B3,38
	B3,39
	B3,40
	B3,41
	B3,42
	B3,43
	B3,44
	B3,45
	B3,46
	B3,47
	B3,48
	B3,49
	B3,50

	10
	B3,51
	B3,52
	B3,53
	B3,54
	B3,55
	B3,56
	B3,57
	B3,58
	B3,59
	B3,60
	B3,61
	B3,62
	B3,63
	B3,64
	B3,65
	B3,66

	11
	B3,67
	B3,68
	B3,69
	B3,70
	B3,71
	B3,72
	B3,73
	B3,74
	B3,75
	B3,76
	B3,77
	B3,78
	B3,79
	B3,80
	B3,81
	B3,82

	12
	B3,83
	B3,84
	B3,85
	B3,86
	B3,87
	B3,88
	B3,89
	B3,90
	B3,91
	0
	0
	0
	0
	0
	0
	0

	13
	P1,1
	P1,2
	P1,3
	P1,4
	P1,5
	P1,6
	P1,7
	P1,8
	P1,9
	P1,10
	P1,11
	P1,12
	P1,13
	P1,14
	P1,15
	P1,16

	14
	P2,1
	P2,2
	P2,3
	P2,4
	P2,5
	P2,6
	P2,7
	P2,8
	P2,9
	P2,10
	P2,11
	P2,12
	P2,13
	P2,14
	P2,15
	P2,16

	15
	P3,1
	P3,2
	P3,3
	P3,4
	P3,5
	P3,6
	P3,7
	P3,8
	P3,9
	P3,10
	P3,11
	P3,12
	P3,13
	P3,14
	P3,15
	P3,16

	16
	P4,1
	P4,2
	P4,3
	P4,4
	P4,5
	P4,6
	P4,7
	P4,8
	P4,9
	P4,10
	P4,11
	P4,12
	P4,13
	P4,14
	P4,15
	P4,16

	17
	P5,1
	P5,2
	P5,3
	P5,4
	P5,5
	P5,6
	P5,7
	P5,8
	P5,9
	P5,10
	P5,11
	P5,12
	P5,13
	P5,14
	P5,15
	P5,16

	18
	P6,1
	P6,2
	P6,3
	P6,4
	P6,5
	P6,6
	P6,7
	P6,8
	P6,9
	P6,10
	P6,11
	P6,12
	P6,13
	P6,14
	P6,15
	P6,16

	19
	P7,1
	P7,2
	P7,3
	P7,4
	P7,5
	P7,6
	P7,7
	P7,8
	P7,9
	P7,10
	P7,11
	P7,12
	P7,13
	P7,14
	P7,15
	P7,16

	20
	P8,1
	P8,2
	P8,3
	P8,4
	P8,5
	P8,6
	P8,7
	P8,8
	P8,9
	P8,10
	P8,11
	P8,12
	P8,13
	P8,14
	P8,15
	P8,16

	Σ
	7
	6
	6
	7
	7
	7
	7
	7
	7
	7
	7
	7
	7
	7
	7
	8


With the advanced PLR, none of the columns has more than eight erasures, so each column can be decoded independently. The reconstruction is then feasible.
7.4 Channel Scenario 3

In a third channel scenario, let us assume that in addition to radio block 5, 7, and 12 also radio block 2 is lost. 

	1
	H1,1
	H1,2
	H1,3
	H1,4
	H1,5
	H1,6
	H1,7
	H1,8
	H1,9
	H1,10

	
	H1,11
	H1,12
	SBN
	ESI=0
	B1,1
	B1,2
	B1,3
	B1,4
	B1,5

	
	B1,6
	B1,7
	B1,8
	B1,9
	B1,10
	B1,11
	B1,12
	B1,13
	B1,14
	H2,1

	2
	H2,2
	H2,3
	H2,4
	H2,5
	H2,6
	H2,7
	H2,8
	H2,9
	H2,10
	H2,11

	
	H2,12
	SBN
	ESI=2
	B2,1
	B2,2
	B2,3
	B2,4
	B2,5
	B2,5

	
	B2,7
	B2,8
	B2,9
	B2,10
	B2,11
	B2,12
	B2,13
	B2,14
	B2,15
	B2,16

	3
	B2,17
	B2,18
	B2,19
	B2,20
	B2,21
	B2,22
	B2,23
	B2,24
	B2,25
	B2,26

	
	B2,27
	B2,28
	B2,29
	B2,30
	B2,31
	B2,32
	B2,33
	B2,34
	B2,35
	B2,36

	
	B2,37
	B2,38
	B2,39
	B2,40
	H3,1
	H3,2
	H3,3
	H3,4
	H3,5
	H3,6

	4
	H3,7
	H3,8
	H3,9
	H3,10
	H3,11
	H3,12
	SBN
	ESI=6
	B3,1

	
	B3,2
	B3,3
	B3,4
	B3,5
	B3,6
	B3,7
	B3,8
	B3,9
	B3,10
	B3,11

	
	B3,12
	B3,13
	B3,14
	B3,15
	B3,16
	B3,17
	B3,18
	B3,19
	B3,20
	B3,21

	5
	B3,22
	B3,23
	B3,24
	B3,25
	B3,26
	B3,27
	B3,28
	B3,29
	B3,30
	B3,31

	
	B3,32
	B3,33
	B3,34
	B3,35
	B3,36
	B3,37
	B3,38
	B3,39
	B3,40
	B3,41

	
	B3,42
	B3,43
	B3,44
	B3,45
	B3,46
	B3,47
	B3,48
	B3,49
	B3,50
	B3,51

	6
	B3,52
	B3,53
	B3,54
	B3,55
	B3,56
	B3,57
	B3,58
	B3,59
	B3,60
	B3,61

	
	B3,62
	B3,63
	B3,64
	B3,65
	B3,66
	B3,67
	B3,68
	B3,69
	B3,70
	B3,71

	
	B3,72
	B3,73
	B3,74
	B3,75
	B3,76
	B3,77
	B3,78
	B3,79
	B3,80
	B3,81

	7
	B3,82
	B3,83
	B3,84
	B3,85
	B3,86
	B3,87
	B3,88
	B3,89
	B3,90
	B3,91

	
	H4,1
	H4,2
	H4,3
	H4,4
	H4,5
	H4,6
	H4,7
	H4,8
	H4,9
	H4,10

	
	H4,11
	H4,12
	SBN
	ESI=13
	SBL=13
	P1,1
	P1,2
	P1,3

	8
	P1,4
	P1,5
	P1,6
	P1,7
	P1,8
	P1,9
	P1,10
	P1,11
	P1,12
	P1,13

	
	P1,14
	P1,15
	P1,16
	P2,1
	P2,2
	P2,3
	P2,4
	P2,5
	P2,6
	P2,7

	
	P2,8
	P2,9
	P2,10
	P2,11
	P2,12
	P2,13
	P2,14
	P2,15
	P2,16
	H5,1

	9
	H5,2
	H5,3
	H5,4
	H5,5
	H5,6
	H5,7
	H5,8
	H5,9
	H5,10
	H5,11

	
	H5,12
	SBN
	ESI=15
	SBL=13
	P3,1
	P3,2
	P3,3
	P3,4

	
	P3,5
	P3,6
	P3,7
	P3,8
	P3,9
	P3,10
	P3,11
	P3,12
	P3,13
	P3,14

	10
	P3,15
	P3,16
	P4,1
	P4,2
	P4,3
	P4,4
	P4,5
	P4,6
	P4,7
	P4,8

	
	P4,8
	P4,9
	P4,10
	P4,11
	P4,12
	P4,13
	P4,14
	P4,15
	H6,1
	H6,2

	
	H6,3
	H6,4
	H6,5
	H6,6
	H6,7
	H6,8
	H6,9
	H6,10
	H6,11
	H6,12

	11
	SBN
	ESI=17
	SBL=13
	P5,1
	P5,2
	P5,3
	P5,4
	P5,5

	
	P5,6
	P5,7
	P5,8
	P5,9
	P5,10
	P5,11
	P5,12
	P5,13
	P5,14
	P5,15

	
	P5,16
	P6,1
	P6,2
	P6,3
	P6,4
	P6,5
	P6,6
	P6,7
	P6,8
	P6,9

	12
	P6,10
	P6,11
	P6,12
	P6,13
	P6,14
	P6,15
	P6,16
	H7,1
	H7,2
	H7,3

	
	H7,4
	H7,5
	H7,6
	H7,7
	H7,8
	H7,9
	H7,10
	H7,11
	H7,12
	SBN

	
	ESI=19
	SBL=13
	P7,1
	P7,2
	P7,3
	P7,4
	P7,5
	P7,6

	13
	P7,7
	P7,8
	P7,9
	P7,10
	P7,11
	P7,12
	P7,14
	P7,14
	P7,15
	P7,16

	
	P8,1
	P8,2
	P8,3
	P8,4
	P8,5
	P8,6
	P8,7
	P8,8
	P8,9
	P8,10

	
	P8,11
	P8,12
	P8,13
	P8,14
	P8,15
	P8,16
	
	
	
	


Obviously, the Conventional receiver and the simple PLR cannot decode this block. We will investigate the other receivers.
Advanced PLR
The advanced PLR only drops individual symbols, but not necessarily entire packets or entire rows, if the header is correctly received. We have the following structure:

	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16

	0
	26
	H1,1
	H1,2
	H1,3
	H1,4
	H1,5
	H1,6
	H1,7
	H1,8
	H1,9
	H1,10
	H1,11
	H1,12
	B1,1
	B1,2

	1
	B1,3
	B1,4
	B1,5
	B1,6
	B1,7
	B1,8
	B1,9
	B1,10
	B1,11
	B1,12
	B1,13
	B1,14
	0
	0
	0
	0

	2
	52
	H2,1
	H2,2
	H2,3
	H2,4
	H2,5
	H2,6
	H2,7
	H2,8
	H2,9
	H2,10
	H2,11
	H2,12
	B2,1
	B2,2

	3
	B2,3
	B2,4
	B2,5
	B2,6
	B2,7
	B2,8
	B2,9
	B2,10
	B2,11
	B2,12
	B2,13
	B2,14
	B2,15
	B2,16
	B2,17
	B2,18

	4
	B2,19
	B2,20
	B2,21
	B2,22
	B2,23
	B2,24
	B2,25
	B2,26
	B2,27
	B2,28
	B2,29
	B2,30
	B2,31
	B2,32
	B2,33
	B2,34

	5
	B2,35
	B2,36
	B2,37
	B2,38
	B2,39
	B2,40
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0

	6
	103
	H3,1
	H3,2
	H3,3
	H3,4
	H3,5
	H3,6
	H3,7
	H3,8
	H3,9
	H3,10
	H3,11
	H3,12
	B3,1
	B3,2

	7
	B3,3
	B3,4
	B3,5
	B3,6
	B3,7
	B3,8
	B3,9
	B3,10
	B3,11
	B3,12
	B3,13
	B3,14
	B3,15
	B3,16
	B3,17
	B3,18

	8
	B3,19
	B3,20
	B3,21
	B3,22
	B3,23
	B3,24
	B3,25
	B3,26
	B3,27
	B3,28
	B3,29
	B3,30
	B3,31
	B3,32
	B3,33
	B3,34

	9
	B3,35
	B3,36
	B3,37
	B3,38
	B3,39
	B3,40
	B3,41
	B3,42
	B3,43
	B3,44
	B3,45
	B3,46
	B3,47
	B3,48
	B3,49
	B3,50

	10
	B3,51
	B3,52
	B3,53
	B3,54
	B3,55
	B3,56
	B3,57
	B3,58
	B3,59
	B3,60
	B3,61
	B3,62
	B3,63
	B3,64
	B3,65
	B3,66

	11
	B3,67
	B3,68
	B3,69
	B3,70
	B3,71
	B3,72
	B3,73
	B3,74
	B3,75
	B3,76
	B3,77
	B3,78
	B3,79
	B3,80
	B3,81
	B3,82

	12
	B3,83
	B3,84
	B3,85
	B3,86
	B3,87
	B3,88
	B3,89
	B3,90
	B3,91
	0
	0
	0
	0
	0
	0
	0

	13
	P1,1
	P1,2
	P1,3
	P1,4
	P1,5
	P1,6
	P1,7
	P1,8
	P1,9
	P1,10
	P1,11
	P1,12
	P1,13
	P1,14
	P1,15
	P1,16

	14
	P2,1
	P2,2
	P2,3
	P2,4
	P2,5
	P2,6
	P2,7
	P2,8
	P2,9
	P2,10
	P2,11
	P2,12
	P2,13
	P2,14
	P2,15
	P2,16

	15
	P3,1
	P3,2
	P3,3
	P3,4
	P3,5
	P3,6
	P3,7
	P3,8
	P3,9
	P3,10
	P3,11
	P3,12
	P3,13
	P3,14
	P3,15
	P3,16

	16
	P4,1
	P4,2
	P4,3
	P4,4
	P4,5
	P4,6
	P4,7
	P4,8
	P4,9
	P4,10
	P4,11
	P4,12
	P4,13
	P4,14
	P4,15
	P4,16

	17
	P5,1
	P5,2
	P5,3
	P5,4
	P5,5
	P5,6
	P5,7
	P5,8
	P5,9
	P5,10
	P5,11
	P5,12
	P5,13
	P5,14
	P5,15
	P5,16

	18
	P6,1
	P6,2
	P6,3
	P6,4
	P6,5
	P6,6
	P6,7
	P6,8
	P6,9
	P6,10
	P6,11
	P6,12
	P6,13
	P6,14
	P6,15
	P6,16

	19
	P7,1
	P7,2
	P7,3
	P7,4
	P7,5
	P7,6
	P7,7
	P7,8
	P7,9
	P7,10
	P7,11
	P7,12
	P7,13
	P7,14
	P7,15
	P7,16

	20
	P8,1
	P8,2
	P8,3
	P8,4
	P8,5
	P8,6
	P8,7
	P8,8
	P8,9
	P8,10
	P8,11
	P8,12
	P8,13
	P8,14
	P8,15
	P8,16

	Σ
	11
	9
	10
	11
	11
	11
	11
	11
	11
	11
	11
	11
	11
	11
	11
	12


With the advanced PLR, none of the columns can be decoded, i.e. the source information cannot be decoded.

Benchmark PLR
The benchmark PLR only drops individual payload symbols, regardless whether the header is received or not. We have the following structure:

	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16

	0
	26
	H1,1
	H1,2
	H1,3
	H1,4
	H1,5
	H1,6
	H1,7
	H1,8
	H1,9
	H1,10
	H1,11
	H1,12
	B1,1
	B1,2

	1
	B1,3
	B1,4
	B1,5
	B1,6
	B1,7
	B1,8
	B1,9
	B1,10
	B1,11
	B1,12
	B1,13
	B1,14
	0
	0
	0
	0

	2
	52
	H2,1
	H2,2
	H2,3
	H2,4
	H2,5
	H2,6
	H2,7
	H2,8
	H2,9
	H2,10
	H2,11
	H2,12
	B2,1
	B2,2

	3
	B2,3
	B2,4
	B2,5
	B2,6
	B2,7
	B2,8
	B2,9
	B2,10
	B2,11
	B2,12
	B2,13
	B2,14
	B2,15
	B2,16
	B2,17
	B2,18

	4
	B2,19
	B2,20
	B2,21
	B2,22
	B2,23
	B2,24
	B2,25
	B2,26
	B2,27
	B2,28
	B2,29
	B2,30
	B2,31
	B2,32
	B2,33
	B2,34

	5
	B2,35
	B2,36
	B2,37
	B2,38
	B2,39
	B2,40
	0
	0
	0
	0
	0
	0
	0
	0
	0
	0

	6
	103
	H3,1
	H3,2
	H3,3
	H3,4
	H3,5
	H3,6
	H3,7
	H3,8
	H3,9
	H3,10
	H3,11
	H3,12
	B3,1
	B3,2

	7
	B3,3
	B3,4
	B3,5
	B3,6
	B3,7
	B3,8
	B3,9
	B3,10
	B3,11
	B3,12
	B3,13
	B3,14
	B3,15
	B3,16
	B3,17
	B3,18

	8
	B3,19
	B3,20
	B3,21
	B3,22
	B3,23
	B3,24
	B3,25
	B3,26
	B3,27
	B3,28
	B3,29
	B3,30
	B3,31
	B3,32
	B3,33
	B3,34

	9
	B3,35
	B3,36
	B3,37
	B3,38
	B3,39
	B3,40
	B3,41
	B3,42
	B3,43
	B3,44
	B3,45
	B3,46
	B3,47
	B3,48
	B3,49
	B3,50

	10
	B3,51
	B3,52
	B3,53
	B3,54
	B3,55
	B3,56
	B3,57
	B3,58
	B3,59
	B3,60
	B3,61
	B3,62
	B3,63
	B3,64
	B3,65
	B3,66

	11
	B3,67
	B3,68
	B3,69
	B3,70
	B3,71
	B3,72
	B3,73
	B3,74
	B3,75
	B3,76
	B3,77
	B3,78
	B3,79
	B3,80
	B3,81
	B3,82

	12
	B3,83
	B3,84
	B3,85
	B3,86
	B3,87
	B3,88
	B3,89
	B3,90
	B3,91
	0
	0
	0
	0
	0
	0
	0

	13
	P1,1
	P1,2
	P1,3
	P1,4
	P1,5
	P1,6
	P1,7
	P1,8
	P1,9
	P1,10
	P1,11
	P1,12
	P1,13
	P1,14
	P1,15
	P1,16

	14
	P2,1
	P2,2
	P2,3
	P2,4
	P2,5
	P2,6
	P2,7
	P2,8
	P2,9
	P2,10
	P2,11
	P2,12
	P2,13
	P2,14
	P2,15
	P2,16

	15
	P3,1
	P3,2
	P3,3
	P3,4
	P3,5
	P3,6
	P3,7
	P3,8
	P3,9
	P3,10
	P3,11
	P3,12
	P3,13
	P3,14
	P3,15
	P3,16

	16
	P4,1
	P4,2
	P4,3
	P4,4
	P4,5
	P4,6
	P4,7
	P4,8
	P4,9
	P4,10
	P4,11
	P4,12
	P4,13
	P4,14
	P4,15
	P4,16

	17
	P5,1
	P5,2
	P5,3
	P5,4
	P5,5
	P5,6
	P5,7
	P5,8
	P5,9
	P5,10
	P5,11
	P5,12
	P5,13
	P5,14
	P5,15
	P5,16

	18
	P6,1
	P6,2
	P6,3
	P6,4
	P6,5
	P6,6
	P6,7
	P6,8
	P6,9
	P6,10
	P6,11
	P6,12
	P6,13
	P6,14
	P6,15
	P6,16

	19
	P7,1
	P7,2
	P7,3
	P7,4
	P7,5
	P7,6
	P7,7
	P7,8
	P7,9
	P7,10
	P7,11
	P7,12
	P7,13
	P7,14
	P7,15
	P7,16

	20
	P8,1
	P8,2
	P8,3
	P8,4
	P8,5
	P8,6
	P8,7
	P8,8
	P8,9
	P8,10
	P8,11
	P8,12
	P8,13
	P8,14
	P8,15
	P8,16

	Σ
	5
	5
	5
	5
	5
	5
	4
	4
	4
	4
	4
	4
	4
	3
	4
	5


With the benchmark PLR, decoding would be possible and all source packets would be reconstructed. Therefore, the reduction of header sizes would be beneficial.
� Contact Person: Thomas Stockhammer, Jürgen Pandel.





